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number | age | gender | trial score

Under40, Man, New, Under70
2. Underd0, Woman, New, Under70
3, Overd40, Woman, Retry, Under70
4, Overd40, Man, New, Over70
o, Overd)d, Woman, New, Over70
B, Under40, Man, New, Over70
i Underdd, Woman, New, Under70
8, Underd40, Man, New, Over70
9, Underdd, Woman, Retry, Under70

10,

Underd0, Man, New, Over70
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> install.packages (“rpart”)

> install.packages (“rpart.plot”)

F

> library (rpart)

> s1 <-read.csv(“ch131.csv”, header=T, row.names=1)

> s2 <-rpart (score”age + gender + trial, data=s1, method="class”)

r—

.

> library (rpart.plot)
> rpart.plot (s2, extra=2)




